
����� 4 
����	�
��� 

 
1. 
	�������������	������������ 
1.1 
	�������������	������������������� 
            1.1.1 
	�������������	����������������������	��� 7 �������!�
�"� 
            ����������	
����

������������������ (Analysis of Varience)  �������� 1  �������
	������  �������� ���������!
�����������"���������#!�������$�%�&�����
�'
(��")&*)�'
�����  ���������$�����)�����+��"��")&*)�+����������$�%�&�����
�'
(��")&*)��������"�!������
�"��+�
",������������(P�0.01)  -�����������$�����)���� Alachlor  360 g ai/rai + Oxyfluorfen 140 g 

ai/rai ��� Alachlor  360 g ai/rai + Oxyfluorfen 280 g ai/rai ��������$�%�&�����
�'
(��")&*)
�'���������(�	.���� 97% ��������$�����)���� Alachlor  360 g ai/rai ��������$�%�&�����
�'
(�
�")&*)�'�������+��(�	.���� 92%  

 

#�	����� 1  
������������������#!�������$�%�&���
�'
(��")&*)�'����� 

�����
����������     7DAA 14DAA 21DAA 28DAA 35DAA 

         

�������� (A)   NS NS NS NS NS 

         

��$�����)�����+��"��")&*) (B)  ** ** ** ** ** 

         

A x B     NS NS NS NS NS 

             

CV(%)(Main-plot)    0.98 4.21 7.45 8.13 29.59 

CV(%)(Sub-plot)    2.07 5.07 3.40 11.69 16.46 

DAA  = Day  After  Application 

*        = ��
������������������������"' P<0.05 

**      = ��
������������������������"' P<0.01 

NS     =  ����
������������������ 
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LSD(0.01)=0.32

b

aba
a

a a

 
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 

T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
 
������ 1 ������$�%�&�����
�'
(��")&*)�'�������� 7 �"���"�.��&�� 
 
            1.1.2 
	�������������	���������������������� 14 �������!�
�"� 
         ����������	
����

������������������ (Analysis of Varience)  �������� 1  �������
	������ �������� ���������!
�����������"���������#!�������$�%�&�����
�'
(��")&*)�'
�����  ���������$�����)�����+��"��")&*)�+����������$�%�&�����
�'
(��")&*)��������"�!������
�"��+�
",������������(P�0.01)  -�����������$�����)���� Alachlor  360 g ai/rai + Oxyfluorfen 280 g 

ai/rai ��������$�%�&�����
�'
(��")&*)�'���������(�	.���� 93% ��������$�����)���� Alachlor  

360 g ai/rai ��������$�%�&�����
�'
(��")&*)�'�������+��(�	.���� 77.5%  
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LSD(0.01)=0.72

a

c

b ab
ab ab

 
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 

T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
 
������ 2  ������$�%�&�����
�'
(��")&*)�'�������� 14 �"���"�.��&�� 
 

            1.1.3 
	���������$������	���������������������� 21 �������!�
�"� 

            ����������	
����

������������������ (Analysis of Varience)  �������� 1  �������
	������ �������� ���������!
�����������"���������#!�������$�%�&�����
�'
(��")&*)�'
�����  ���������$�����)�����+��"��")&*)�+����������$�%�&�����
�'
(��")&*)��������"�!������
�"��+�
",������������(P�0.01)  -�����������$�����)���� Alachlor 360 g ai/rai + Oxyfluorfen 280 g 

ai/rai  ��������$�%�&�����
�'
(��")&*)�'���������(�	.���� 85.5% ��������$�����)���� Alachlor  

360 g ai/rai ��������$�%�&�����
�'
(��")&*)�'�������+��(�	.���� 75%  
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LSD(0.01)=0.45
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b

 
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 

T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
 
������ 3  ������$�%�&�����
�'
(��")&*)�'�������� 21 �"���"�.��&�� 
 
 
            1.1.4 
	�������������	���������������������� 28 �������!�
�"� 
            ����������	
����

������������������ (Analysis of Varience)  �������� 1  �������
	������ �������� ���������!
�����������"���������#!�������$�%�&�����
�'
(��")&*)�'
�����  ���������$�����)�����+��"��")&*)�+����������$�%�&�����
�'
(��")&*)��������"�!������
�"��+�
",������������(P�0.01)  -�����������$�����)���� Alachlor 360 g ai/rai + Oxyfluorfen 140 g 

ai/rai  ���Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai  ��������$�%�&�����
�'
(��")&*)
�'���������(�	.����79% ��������$�����)���� Alachlor  360 g ai/rai ��������$�%�&�����
�'
(�
�")&*)�'�������+��(�	.���� 55%  
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T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 

T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
 
������ 4  ������$�%�&�����
�'
(��")&*)�'�������� 28 �"���"�.��&�� 
 
 
            1.1.5 
	�������������	���������������������� 35 �������!�
�"� 
            ����������	
����

������������������ (Analysis of Varience)  �������� 1  �������
	������ �������� ���������!
�����������"���������#!�������$�%�&�����
�'
(��")&*)�'
�����  ���������$�����)�����+��"��")&*)�+����������$�%�&�����
�'
(��")&*)��������"�!������
�"��+�
",������������(P�0.01)  -�����������$�����)���� Alachlor 360 g ai/rai + Oxyfluorfen 280 g 

ai/rai ��������$�%�&�����
�'
(��")&*)�'���������(�	.����65.5% ��������$�����)���� Alachlor  

360 g ai/rai ��������$�%�&�����
�'
(��")&*)�'�������+��(�	.���� 31%  
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LSD(0.01)=1.51

b

a
a a a a

 
 
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 

T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
 
������ 5  ������$�%�&�����
�'
(��")&*)�'�������� 35 �"���"�.��&�� 
 
 
����#$��
	�������������	�������������������

������/0�1�&��"�#!�������$�%�&�����
�'
(��")&*)�'��������"��	��*!� ������� 

7, 14, 21, 28 ��� 35 �"� (%�&��� 6 - 11) &'���  ���(�2������$�����)�����+��"��")&*)
������$�%�&�����
�'
(��")&*)����������� 7 �"���"�.��&������+��"��")&*)  !���� ������
���"�	�� �������������$�����)���� Alachlor  360 g ai/rai ������$�%�&�����
�'
(��")&*)�'
���������%����)���	��� 14 – 35 �"�  ���������$�!*��������$�%�&��������)��� 28 – 35 �"�
��"�.��&������+��"��")&*)  

             

    



19 
 

y = -0.0039x3 + 0.1778x2 - 4.2789x + 114.6
R2 = 0.9814

y = -0.0036x3 + 0.1873x2 - 3.9388x + 109.4
R2 = 0.9965
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������ 6 &��"�������$�%�&�����
�'
(��")&*)�'�����#!� T1 = Alachlor  360 g ai/rai   
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 

 

 

y = -0.0034x3 + 0.2026x2 - 4.5578x + 119
R2 = 0.9977

y = -0.0049x3 + 0.2522x2 - 4.7109x + 116.2
R2 = 0.9995
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������ 7 &��"�������$�%�&�����
�'
(��")&*)�'�����#!� T2 = Oxyfluorfen 280 g ai/rai 

_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 
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y = -0.0002x3 - 0.0095x2 - 0.3401x + 97
R2 = 0.9994

y = -0.0051x3 + 0.301x2 - 6.2143x + 125.4
R2 = 0.999
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������ 8 &��"�������$�%�&�����
�'
(��")&*)�'�����#!� T3 = Alachlor 180 g ai/rai + 

Oxyfluorfen 140 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 

 

 

y = -0.0039x3 + 0.2041x2 - 3.9524x + 115.2
R2 = 0.9963

y = -0.0024x3 + 0.1283x2 - 2.983x + 111.4
R2 = 0.9999
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������ 9 &��"�������$�%�&�����
�'
(��")&*)�'�����#!� T4 = Alachlor 180 g ai/rai + 

Oxyfluorfen 280 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 
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y = -0.0017x3 + 0.0853x2 - 2.1769x + 110
R2 = 0.9863

y = -0.0051x3 + 0.2937x2 - 5.8367x + 123.2
R2 = 1
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������ 10 &��"�������$�%�&�����
�'
(��")&*)�'�����#!� T5 = Alachlor 360 g ai/rai + 

Oxyfluorfen 140 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 

 

 

y = -0.0017x3 + 0.0736x2 - 1.6871x + 104.8
R2 = 1

y = -2E-16x3 - 0.019x2 - 0.2755x + 101.2
R2 = 0.9859
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������ 11 &��"�������$�%�&�����
�'
(��")&*)�'�����#!� T6 = Alachlor 360 g ai/rai + 

Oxyfluorfen 280 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 
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            1.2 
	���������$������	��������������%�� 
        1.2.1 
	�������������	��������������%����� 7 �������!�
�"� 
        ����������	
����

������������������ (Analysis of Varience)  �������� 2  �������
	������  �������� ���������!
�����������"���������#!�������$�%�&�����
�'
(��")&*)�'
�
'  ���������$�����)�����+��"��")&*)�+����������$�%�&�����
�'
(��")&*)��������"�!������
�"��+�
",������������(P�0.01)  -�����������$�����)���� Alachlor  180 g ai/rai + Oxyfluorfen 280 g 

ai/rai ��� Alachlor  360 g ai/rai + Oxyfluorfen 280 g ai/rai ��������$�%�&�����
�'
(��")&*)
�'�
'����(�	.���� 96.5% ��������$�����)���� Alachlor  360 g ai/rai ��������$�%�&�����

�'
(��")&*)�'�
'��+��(�	.���� 92.5%  

 

#�	����� 2  
������������������#!�������$�%�&���
�'
(��")&*)�'�
' 

 

�����
����������     7DAA 14DAA 21DAA 28DAA 35DAA 

         

�������� (A)   NS NS NS NS NS 

         

��$�����)�����+��"��")&*) (B)  ** ** ** ** ** 

         

A x B     NS NS NS NS NS 

             

CV(%)(Main-plot)    2.33 6.48 2.62 1.82 14.29 

CV(%)(Sub-plot)    2.16 2.39 2.21 11.93 17.25 

DAA  = Day  After  Application 

*        = ��
������������������������"' P<0.05 

**      = ��
������������������������"' P<0.01 

NS     =  ����
������������������ 
 



23 
 

80

82

84

86

88

90

92

94

96

98

100

T1 T2 T3 T4 T5 T6

��������	�
�����
��

�
��
�
��
���

�

(%
)

LSD(0.01)=0.33

a a a

ab
abb

 
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 

T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 

 

������ 12 ������$�%�&�����
�'
(��")&*)�'�
'��� 7 �"���"�.��&�� 
 
 

            1.2.2 
	�������������	��������������%����� 14 �������!�
�"� 
            ����������	
����

������������������ (Analysis of Varience)  �������� 2  �������
	������  �������� ���������!
�����������"���������#!�������$�%�&�����
�'
(��")&*)�'
�
'  ���������$�����)�����+��"��")&*)�+����������$�%�&�����
�'
(��")&*)��������"�!������
�"��+�
",������������(P�0.01)  -�����������$�����)���� Alachlor  360 g ai/rai + Oxyfluorfen 280 g 

ai/rai ��������$�%�&�����
�'
(��")&*)�'�
'����(�	.���� 90% ��������$�����)���� Alachlor  

360 g ai/rai ��������$�%�&�����
�'
(��")&*)�'�
'��+��(�	.���� 85%  
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LSD(0.01)=0.34

aab
abc

abcbc
c

 
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 

T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
 
������ 13 ������$�%�&�����
�'
(��")&*)�'�
'��� 14 �"���"�.��&�� 
 
 
            1.2.3 
	���������$����	�&�'�
������ Alachlor  %�� Oxyfluorfen #"���	������������
��%����� 21 �������!�
�"� 
            ����������	
����

������������������ (Analysis of Varience)  �������� 2  �������
	������  �������� ���������!
�����������"���������#!�������$�%�&�����
�'
(��")&*)�'
�
'  ���������$�����)�����+��"��")&*)�+����������$�%�&�����
�'
(��")&*)��������"�!������
�"��+�
",������������(P�0.01)  -�����������$�����)���� Alachlor  360 g ai/rai + Oxyfluorfen 280 g 

ai/rai ��������$�%�&�����
�'
(��")&*)�'�
'����(�	.���� 85% ��������$�����)���� Alachlor  

360 g ai/rai ��������$�%�&�����
�'
(��")&*)�'�
'��+��(�	.���� 79% 
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LSD(0.01)=0.29

aa
ab ab

bc
c

 
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 

T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
 
������ 14 ������$�%�&�����
�'
(��")&*)�'�
'��� 21 �"���"�.��&�� 
 
 
            1.2.4 
	�������������	��������������%����� 28 �������!�
�"� 
            ����������	
����

������������������ (Analysis of Varience)  �������� 2  �������
	������  �������� ���������!
�����������"���������#!�������$�%�&�����
�'
(��")&*)�'
�
'  ���������$�����)�����+��"��")&*)�+����������$�%�&�����
�'
(��")&*)��������"�!������
�"��+�
",������������(P�0.01)  -�����������$�����)���� Alachlor  360 g ai/rai + Oxyfluorfen 280 g 

ai/rai ��������$�%�&�����
�'
(��")&*)�'�
'����(�	.���� 85% ��������$�����)���� Alachlor  

360 g ai/rai ��������$�%�&�����
�'
(��")&*)�'�
'��+��(�	.���� 79% 
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LSD(0.01)=1.42

a

b

a a a
a

 
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 

T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
 
������ 15 ������$�%�&�����
�'
(��")&*)�'�
'��� 28 �"���"�.��&�� 
 
       
            1.2.5 
	�������������	��������������%����� 35 �������!�
�"� 
            ����������	
����

������������������ (Analysis of Varience)  �������� 2  ����
���	������  �������� ���������!
�����������"���������#!�������$�%�&�����
�'
(��")&*)
�'�
'  ���������$�����)�����+��"��")&*)�+����������$�%�&�����
�'
(��")&*)��������"�
!�������"��+�
",������������(P�0.01)  -�����������$�����)���� Alachlor  180 g ai/rai + Oxyfluorfen 

280 g ai/rai ��������$�%�&�����
�'
(��")&*)�'�
'����(�	.���� 61.5% ��������$�����)���� 

Alachlor  360 g ai/rai ��������$�%�&�����
�'
(��")&*)�'�
'��+��(�	.���� 38.5% 
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LSD(0.01)=1.59

b

a
aaa

a

 
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 

T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
 
������ 16 ������$�%�&�����
�'
(��")&*)�'�
'��� 35 �"���"�.��&�� 
 
 

����#$��
	�������������	��������������%�� 
������/0�1�&��"�#!�������$�%�&�����
�'
(��")&*)�'�
'���"��	��*!� ������� 

7, 14, 21, 28 ��� 35 �"� (%�&��� 17 - 22) &'���  ���(�2������$�����)�����+��"��")&*)
������$�%�&�����
�'
(��")&*)�'�
'����������� 7 �"���"�.��&������+��"��")&*)  !���� �
��������"�	�� �������������$�����)���� Alachlor  360 g ai/rai ������$�%�&�����
�'
(��")&*)
�'�
'����%����)���	��� 14 – 35 �"�  ���������$�!*��������$�%�&��������)��� 28 – 35 �"�
��"�.��&������+��"��")&*)  
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y = -0.0039x3 + 0.1778x2 - 4.2789x + 114.6
R2 = 0.9814

y = -0.0036x3 + 0.1873x2 - 3.9388x + 109.4
R2 = 0.9965
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������ 17 &��"�������$�%�&�����
�'
(��")&*)�'�
'#!� T1 = Alachlor  360 g ai/rai   
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 

 

 

y = -0.0049x3 + 0.2522x2 - 4.7109x + 116.2
R2 = 0.9995

y = -0.0034x3 + 0.2026x2 - 4.5578x + 119
R2 = 0.9977
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������ 18 &��"�������$�%�&�����
�'
(��")&*)�'�
'#!� T2 = Oxyfluorfen 280 g ai/rai 

_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 
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y = -0.0051x3 + 0.301x2 - 6.2143x + 125.4
R2 = 0.999

y = -0.0002x3 - 0.0095x2 - 0.3401x + 97
R2 = 0.9994
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������ 19  &��"�������$�%�&�����
�'
(��")&*)�'�
'#!� T3 = Alachlor 180 g ai/rai +  

                 Oxyfluorfen 140 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 

 

 

y = -0.0039x3 + 0.2041x2 - 3.9524x + 115.2
R2 = 0.9963

y = -0.0024x3 + 0.1283x2 - 2.983x + 111.4
R2 = 0.9999
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������ 20  &��"�������$�%�&�����
�'
(��")&*)�'�
'#!� T4 = Alachlor 180 g ai/rai +  

                 Oxyfluorfen 280 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 
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y = -0.0017x3 + 0.0853x2 - 2.1769x + 110
R2 = 0.9863

y = -0.0051x3 + 0.2937x2 - 5.8367x + 123.2
R2 = 1
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������ 21 &��"�������$�%�&�����
�'
(��")&*)�'�
'#!� T5 = Alachlor 360 g ai/rai + 

Oxyfluorfen 140 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 

 

 

y = -2E-16x3 - 0.019x2 - 0.2755x + 101.2
R2 = 0.9859

y = -0.0017x3 + 0.0736x2 - 1.6871x + 104.8
R2 = 1
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������ 22 &��"�������$�%�&�����
�'
(��")&*)�'�����#!� T6 = Alachlor 360 g ai/rai + 

Oxyfluorfen 280 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 
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            1.3 
	�������������	��������������()�� 
            1.3.1 
	�������������	��������������()����� 7 �������!�
�"� 

            ����������	
����

������������������ (Analysis of Varience)  �������� 3  �������
	������  �������� ���������!
�����������"���������#!�������$�%�&�����
�'
(��")&*)��/

��  ���������$�����)�����+��"��")&*)�+����������$�%�&�����
�'
(��")&*)��������"�!������
�"��+�
",������������(P�0.01)  -�����������$�����)���� Alachlor  360 g ai/rai + Oxyfluorfen 140 g 

ai/rai ��������$�%�&�����
�'
(��")&*)��/
������(�	.���� 93% ��������$�����)���� Alachlor  

360 g ai/rai ��������$�%�&�����
�'
(��")&*)��/
����+��(�	.���� 82.5% 

 

  #�	����� 3  
������������������#!�������$�%�&���
�'
(��")&*)��/
�� 

 

�����
����������     7DAA 14DAA 21DAA 28DAA 35DAA 

         

�������� (A)   NS NS NS NS NS 

         

��$�����)�����+��"��")&*) (B)  ** ** ** ** ** 

         

A x B     NS NS NS NS NS 

             

CV(%)(Main-plot)    8.16 18.84 9.71 13.58 15.79 

CV(%)(Sub-plot)    2.82 4.93 9.89 16.11 27.95 

DAA  = Day  After  Application 

*        = ��
������������������������"' P<0.05 

**      = ��
������������������������"' P<0.01 

NS     =  ����
������������������ 
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LSD(0.01)=0.55

a
ab

ab
ab

bc

c

 
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 

T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
 
������ 23 ������$�%�&�����
�'
(��")&*)��/
����� 7 �"���"�.��&�� 
   

            1.3.2 
	�������������	��������������()����� 14 �������!�
�"�  

            ����������	
����

������������������ (Analysis of Varience)  �������� 3  �������
	������  �������� ���������!
�����������"���������#!�������$�%�&�����
�'
(��")&*)��/

��  ���������$�����)�����+��"��")&*)�+����������$�%�&�����
�'
(��")&*)��������"�!������
�"��+�
",������������(P�0.01)  -�����������$�����)���� Alachlor  180 g ai/rai + Oxyfluorfen 280 g 

ai/rai ��������$�%�&�����
�'
(��")&*)��/
������(�	.���� 85% ��������$�����)���� Alachlor  

360 g ai/rai ��������$�%�&�����
�'
(��")&*)��/
����+��(�	.���� 75% 
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LSD(0.01)=0.65

a
ab ababc

bc
c

 
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 

T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
 
������ 24 ������$�%�&�����
�'
(��")&*)��/
����� 14 �"���"�.��&�� 
 

            1.3.3 
	�������������	��������������()����� 21 �������!�
�"� 

            ����������	
����

������������������ (Analysis of Varience)  �������� 3  �������
	������  �������� ���������!
�����������"���������#!�������$�%�&�����
�'
(��")&*)��/

��  ���������$�����)�����+��"��")&*)�+����������$�%�&�����
�'
(��")&*)��������"�!������
�"��+�
",������������(P�0.01)  -�����������$�����)���� Alachlor  360 g ai/rai + Oxyfluorfen 280 g 

ai/rai ��������$�%�&�����
�'
(��")&*)��/
������(�	.���� 81.5% ��������$�����)���� Alachlor  

360 g ai/rai ��������$�%�&�����
�'
(��")&*)��/
����+��(�	.���� 60% 
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LSD(0.01)=1.19

a

a a

a

ab

b

 
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 

T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
 
������ 25 ������$�%�&�����
�'
(��")&*)��/
����� 21 �"���"�.��&�� 
 

            1.3.4 
	�������������	��������������()����� 28 �������!�
�"� 
            ����������	
����

������������������ (Analysis of Varience)  �������� 3  �������
	������  �������� ���������!
�����������"���������#!�������$�%�&�����
�'
(��")&*)��/

��  ���������$�����)�����+��"��")&*)�+����������$�%�&�����
�'
(��")&*)��������"�!������
�"��+�
",������������(P�0.01)  -�����������$�����)���� Alachlor  360 g ai/rai + Oxyfluorfen 280 g 

ai/rai ��������$�%�&�����
�'
(��")&*)��/
������(�	.���� 76% ��������$�����)���� Alachlor  

360 g ai/rai ��������$�%�&�����
�'
(��")&*)��/
����+��(�	.���� 25% 
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LSD(0.01)=1.59

a a
a a

a

b

 
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 

T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
 
������ 26 ������$�%�&�����
�'
(��")&*)��/
����� 28 �"���"�.��&�� 
 

            1.3.5 
	�������������	��������������()����� 35 �������!�
�"� 

            ����������	
����

������������������ (Analysis of Varience)  �������� 3  �������
	������  �������� ���������!
�����������"���������#!�������$�%�&�����
�'
(��")&*)��/

��  ���������$�����)�����+��"��")&*)�+����������$�%�&�����
�'
(��")&*)��������"�!������
�"��+�
",������������(P�0.01)  -�����������$�����)���� Alachlor  360 g ai/rai + Oxyfluorfen 280 g 

ai/rai ��������$�%�&�����
�'
(��")&*)��/
������(�	.���� 45% ��������$�����)���� Alachlor  

360 g ai/rai ��������$�%�&�����
�'
(��")&*)��/
����+��(�	.���� 10% 
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LSD(0.01)=1.45

b

a a a
a

a

 
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 

T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
 
������ 27 ������$�%�&�����
�'
(��")&*)��/
����� 35 �"���"�.��&�� 
 
����#$��
	�������������	��������������()�� 

            ������/0�1�&��"�#!�������$�%�&�����
�'
(��")&*)��/
�����"��	��*!� ������� 7, 

14, 21, 28 ��� 35 �"� (%�&��� 28 - 33) &'���  ���(�2������$�����)�����+��"��")&*)������$�%�&
�����
�'
(��")&*)��/
������������� 7 �"���"�.��&������+��"��")&*)  !���� ��������
�"�	�� �������������$�����)���� Alachlor  360 g ai/rai ������$�%�&�����
�'
(��")&*)��/
��
����%����)���	��� 14 – 35 �"�  ���������$�!*��������$�%�&��������)��� 28 – 35 �"���"�.��
&������+��"��")&*)  
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y = 0.0041x3 - 0.3345x2 + 5.1701x + 61.4
R2 = 0.9973

y = 0.0092x3 - 0.6093x2 + 8.9966x + 44.6
R2 = 0.9794
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������ 28 &��"�������$�%�&�����
�'
(��")&*)��/
��#!� T1 = Alachlor  360 g ai/rai   
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 

 

 

 

y = -0.0017x3 + 0.0634x2 - 1.7585x + 96.8
R2 = 1

y = -0.0058x3 + 0.2901x2 - 5.2551x + 111
R2 = 0.9928
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������ 29 &��"�������$�%�&�����
�'
(��")&*)��/
��#!� T2 = Oxyfluorfen 280 g ai/rai 

_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 
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y = -0.0051x3 + 0.231x2 - 3.9898x + 107
R2 = 0.9957

y = -0.0039x3 + 0.2303x2 - 5.6259x + 118.6
R2 = 0.9986
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������ 30 &��"�������$�%�&�����
�'
(��")&*)��/
#!� T3 = Alachlor 180 g ai/rai + 

Oxyfluorfen 140 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 

 

 

y = -0.0053x3 + 0.2303x2 - 3.5544x + 104.8
R2 = 0.9954

y = -0.0083x3 + 0.4257x2 - 7.6156x + 127.6
R2 = 0.9972
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������ 31 &��"�������$�%�&�����
�'
(��")&*)��/
��#!� T4 = Alachlor 180 g ai/rai + 

Oxyfluorfen 280 g ai/rai 

_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 
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y = -0.0068x3 + 0.3528x2 - 6.3401x + 121.6
R2 = 0.9987

y = -0.0063x3 + 0.3528x2 - 7.2211x + 130
R2 = 0.9871
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������ 32 &��"�������$�%�&�����
�'
(��")&*)��/
��#!� T5 = Alachlor 360 g ai/rai + 

Oxyfluorfen 140 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 

 

 

y = -0.0068x3 + 0.3586x2 - 6.2993x + 121
R2 = 0.9988

y = -0.0083x3 + 0.4534x2 - 8.2789x + 131
R2 = 0.9911
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������ 33 &��"�������$�%�&�����
�'
(��")&*)��/
��#!� T6 = Alachlor 360 g ai/rai + 

Oxyfluorfen 280 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 
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2. 	�
������*
+���,(Phytotoxic) 
            2.1 	�
������*
+���,(Phytotoxic)���	��� 7 �������!�
�"�             

            ����������	
����

������������������(Analysis of Varience)  �������� 4  �������
	������  �������� ����
�����������"���������#!�
���	�3�&�1(Phytotoxic)���"��	��*!�   ���
������$�����)�����+��"��")&*)�+����
���	�3�&�1(Phytotoxic)  ��������"�!�������"��+�
",�������
�����(P�0.01)  -�����������$�����)���� Alachlor  360 g ai/rai + Oxyfluorfen 280 g ai/rai  ���  

Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai  ��
���	�3�&�1����(�	.���� 31.67 %   ��������$�
����)���� Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai   ��
���	�3�&�1��+��(�	.���� 22.50 %  

��������)���� Alachlor  360 g ai/rai  ������!����	�3�&�1��!�"��	��*!� 

 
#�	����� 4  
������������������#!�
���	�3�&�1��!�"��	��*!�#!�����+��"��")&*) Alachlor  
              ���   Oxyfluorfen 

�����
����������     7DAA 14DAA 21DAA 28DAA 35DAA 

         

�������� (A)   NS NS NS NS NS 

         

��$�����)�����+��"��")&*) (B)  ** * ** NS ** 

         

A x B     NS NS NS NS NS 

CV(%)(Main-plot)       6.76 12.36 15.42 26.72 72.98 

CV(%)(Sub-plot)    9.26 14.40 16.48 37.19 55.74 

DAA  = Day  After  Application 

*        = ��
������������������������"' P�0.05 

**      = ��
������������������������"' P�0.01 

NS     =  ����
������������������ 
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LSD(0.01)=4.21

b

c

a

bc

a

 
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
����*�#�   T1 = Alachlor  360 g ai/rai   �� ���+�����	
����
�����"'������$�!*��	�*�!�����"��	��*!�  
                    ������!����	�3�&�1 
������ 34 
���	�3�&�1������� 7 �"���"�.��&�� 
 

            2.2 	�
������*
+���,(Phytotoxic)���	��� 14 �������!�
�"� 
            ����������	
����

������������������(Analysis of Varience)  �������� 4 �������
	������  �������� ����
�����������"���������#!�
���	�3�&�1(Phytotoxic)���"��	��*!�   ���
������$�����)�����+��"��")&*)�+����
���	�3�&�1(Phytotoxic)  ��������"�!�������"��+�
",���
�����(P�0.05)  -�����������$�����)���� Oxyfluorfen 280 g ai/rai , Alachlor 180 g ai/rai + 

Oxyfluorfen 280 g ai/rai ��� Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai  ��
���	�3�&�1
����(�	.���� 36.67 % ��������$�����)���� Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai   ��
���
	�3�&�1��+��(�	.���� 27.50 %  ��������)���� Alachlor  360 g ai/rai  ������!����	�3�&�1��!�"��
	��*!� 
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ba a
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b

LSD(0.05)=5.96

 
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
����*�#�   T1 = Alachlor  360 g ai/rai   �� ���+�����	
����
�����"'������$�!*��	�*�!�����"��	��*!�  
                    ������!����	�3�&�1 
������ 35 
���	�3�&�1������� 14 �"���"�.��&�� 
 
            2.3 	�
������*
+���,(Phytotoxic)���	��� 21 �������!�
�"� 
            ����������	
����

������������������(Analysis of Varience)  �������� 4  &'���  
�������� ����
�����������"���������#!�
���	�3�&�1(Phytotoxic)���"��	��*!�   �������
��$�����)�����+��"��")&*)�+����
���	�3�&�1(Phytotoxic)  ��������"�!�������"��+�
",������������
(P�0.01) -�����������$�����)����  Oxyfluorfen 280 g ai/rai , Alachlor 180 g ai/rai + Oxyfluorfen 

280 g ai/rai ��� Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai   ��
���	�3�&�1����(�	.���� 

17.78 % ��������$�����)����  Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai  ��� Alachlor 360 

g ai/rai + Oxyfluorfen 140 g ai/rai  ��
���	�3�&�1	.����  12.50 % ��������)���� Alachlor  360 g 

ai/rai  ������!����	�3�&�1��!�"��	��*!� 
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LSD(0.01)=4.35

 
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
����*�#�   T1 = Alachlor  360 g ai/rai   �� ���+�����	
����
�����"'������$�!*��	�*�!�����"��	��*!�  
                    ������!����	�3�&�1 
������ 36 
���	�3�&�1������� 21 �"���"�.��&�� 
 

            2.4 	�
������*
+���,(Phytotoxic)���	��� 28 �������!�
�"� 
            ����������	
����

������������������(Analysis of Varience)  �������� 4 &'������ 28 

�"���"�.��&���"4��!�������������������������$�����)�����+��"��")&*)�+����
���	�3�&�1 ��
��������"� -�������
���	�3�&�1	.���� 6.83 % ��������)���� Alachlor  360 g ai/rai  ������
!����	�3�&�1��!�"��	��*!� 
 

            2.5 	�
������*
+���,(Phytotoxic)���	��� 35 �������!�
�"� 
            ����������	
����

������������������(Analysis of Varience)  �������� 4  �������
	������  �������� ����
�����������"���������#!�
���	�3�&�1(Phytotoxic)���"��	��*!�   ���
������$�����)�����+��"��")&*)�+����
���	�3�&�1(Phytotoxic)  ��������"�!�������"��+�
",�������
�����(P�0.01) -����� ��������$�����)�����+��"��")&*) Alachlor  360 g ai/rai + Oxyfluorfen 180 g 

ai/rai  ��
���	�3�&�1��!�"��	��*!�	.���� 1.84 %  ����������$�����)���� Alachlor  180 g ai/rai + 

Oxyfluorfen 140 g ai/rai  ��� Alachlor  360 g ai/rai  ������!����	�3�&�1��!�"��	��*!� 
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LSD(0.01)=0.81

a

bc

c

ab

 
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
����*�#�   T1 = Alachlor  360 g ai/rai   �� ���+�����	
����
�����"'������$�!*��	�*�!�����"��	��*!�  
                    ������!����	�3�&�1 
                   T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai   �� ���+�����	
����
 
                   �����"'������$�!*��	�*�!�����"��	��*!� ������!����	�3�&�1 
������ 37 
���	�3�&�1������� 35 �"���"�.��&�� 
 

'&����������%�
�����	*
+���,�:���
#"�;���*�����
����������	
����

������������������(Analysis  of  Varience)  �������� 5    

&'���  ���������"4� 2 ����������!�+�����"�����(��������!����	�3�&�1(Phytotoxic)  !������
�"��+�
",������������(P�0.01)  -���������������� 25 x 25 	5���	���  ���+�����"��������!����
	�3�&�1��!�"��	��*!�����(�	.���� 12 �"� �������!�������"��+�
",�"'�������������� 25 x 50 

	5���	��� 50�����+�����"�����(����������!����	�3�&�1��!�"��	��*!�	.���� 11 �"� ��������
��$�����)�����+��"��")&*) ��������!�+�����"��������!����	�3�&�1 

 



45 
 

#�	����� 5  
������������������#!�
���	�3�&�1��!�"��	��*!�����+�����"���"�.��&������"��
	��*!�����!����	�3�&�1����(�#!�����+��"��")&*) Alachlor ���   Oxyfluorfen 
 
�����
����������   DAA Phytotoxic(%) 

    

�������� (A)  ** NS 

     

��$�����)�����+��"��")&*) (B) NS ** 

     

A x B    NS NS 

 CV(%)(Main-plot)     1.63 11.53 

 CV(%)(Sup-plot)   10.15 9.92 

DAA  = Day  After  Application 

*        = ��
������������������������"' P�0.05 

**      = ��
������������������������"' P�0.01 

NS     =  ����
������������������ 
 
 #�	����� 6 �+�����"����	���&�1����(����"��	��*!��������������� 25 x 25 ��� 25 x 50 	5���	���  
            
��������(	5���	���) �+�����"����	���&�1����(� 

 

25 x 25  12 

   

25 x 50   11 

   

LSD(0.01) = 0.66 

 

�		�������	�����	�&�'�
������#"���	%�
�����	*
+���, 
            ����������	
����

������������������(Analysis  of  Varience)  �������� 5  �������
	������  ����)�����+��"��")&*)��������$�����2  �+����
���	�3�&�1(Phytotoxic)  ��������"�!����
���"��+�
",������������(P�0.01)  -�� ������$����������)�����+��"��")&*) Alachlor 180 g ai/rai + 

Oxyfluorfen 280 g ai/rai  �+�����"��	��*!�����!����	�3�&�1	.��������(�  36.58 %  ����������"'
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������$����������)�����+��"��")&*)  Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai ��� 

Oxyfluorfen 280 g ai/rai ������������$�����)�����+��"��")&*) Alachlor 180 g ai/rai + Oxyfluorfen 

140 g ai/rai �"��	��*!�����!����	�3�&�1	.������+��(� 26.99 %  
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LSD(0.01)=5.49a aa

b
a

 
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
����*�#�   T1 = Alachlor  360 g ai/rai   �� ���+�����	
����
�����"'������$�!*��	�*�!�����"��	��*!�  
                    ������!����	�3�&�1 
������ 38 
���	�3�&�1��!�"��	��*!� 
 

����#����*
+���,(Phytotoxic) 
            ������/0�1�&��"�#!����"'
���	�3�&�1(Phytotoxic) ���"��	��*!� (%�&��� 39 - 43)  

�������	���������"'
���	�3�&�1(Phytotoxic)���"��	��*!������-���	&���#04�!����)��2��)��� 7 – 

14 �"� #!����	���,	��'-�#!�����"��	��*!�   -�����6��� ��������/0�1�&��"�#!����"'
���
	�3�&�1�����"�17�	�3�	���-
������"� S   50���"��	��*!�������!����	�3�&�1	&���#04�	�*�!�2 ����

���	�3�&�1����(�	.������� 12 �"����������������� 25 x 25 	5���	��� ���
���	�3�&�1	.����
����(���� 11 �"� ���������������� 25 x 50 	5���	��� ��"�����"4�������	�*�!�2 �� ������
!����	�3�&�1 
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y = 0.0083x3 - 0.5622x2 + 10.136x - 19.2
R2 = 0.934

y = 0.0087x3 - 0.587x2 + 10.51x - 22.133
R2 = 0.9221
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S1=

S2=

 
������ 39 
���	�3�&�1#!� T2 = Oxyfluorfen 280 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 

 

y = 0.0061x3 - 0.4069x2 + 7.0918x - 9.6667
R2 = 0.9444

y = 0.0049x3 - 0.3183x2 + 5.1531x + 1.6667
R2 = 0.9402
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������ 40 
���	�3�&�1#!� T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm 
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y = 0.0069x3 - 0.4555x2 + 7.6644x - 3
R2 = 0.9244

y = 0.0074x3 - 0.4876x2 + 8.2256x - 3.9333
R2 = 0.8868

0

10

20

30

40

50

60

0 5 10 15 20 25 30 35 40


	��������������
��

�
��
��
�
��


��
(%
)

S1=

S2=

 
������ 41 
���	�3�&�1#!� T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm 

 

 

y = 0.0074x3 - 0.4876x2 + 8.2256x - 3.9333
R2 = 0.8868

y = 0.0069x3 - 0.4555x2 + 7.6644x - 3
R2 = 0.9244
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������ 42 
���	�3�&�1#!� T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm 
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y = 0.0074x3 - 0.4876x2 + 8.2256x - 3.9333
R2 = 0.8868

y = 0.0069x3 - 0.4555x2 + 7.6644x - 3
R2 = 0.9244
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S2=

 
������ 43 
���	�3�&�1#!� T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm 

 
3. �<&�����%��������� 
            3.1 �<&�����%���������������� 
            ����������	
����

������������������(Analysis of Varience)  �������� 7  �������
	�������������� ���������!
�����������"���������#!��4+���"������")&*)�'�����  �������
��$�����)�����+��"��")&*)�+�����4+���"�����#!��")&*)�'�������������"�!�������"��+�
",�������
�����(P�0.01)  ���&'�8��"�&"�$
����������������"'������$�������)�����+��"��")&*)(P<0.01) 

-�����  ������$�����)���� Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai ���4+���"������")&*)�'
�����	.������+��(� 2.62 ��"�/0.25 �����	���  �!�����	�3�������$�����)���� Alachlor 360 g ai/rai + 

Oxyfluorfen 280 g ai/rai  ���4+���"������")&*)	.���� 2.81 ��"�/0.25 �����	��� ����������$�����)�
����+��"��")&*) Alachlor  360 g ai/rai ���4+���"������")&*)�'�����	.��������(� 10.55 ��"�/0.25 

�����	���  
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#�	�����  7 
������������������#!��4+���"������")&*) 

�����
����������   ����� �
' �� ��� 

      

�������� (A)  NS NS NS NS 

       

��$�����)�����+��"��")&*) (B) ** ** ** ** 

       

A x B    ** NS NS NS 

CV(%)(Main-plot)     49.63 83.69 78.61 68.49 

 CV(%)(Sub-plot) 66.19 46.53 56.28 35.56 

*        = ��
������������������������"' P<0.05 

**      = ��
������������������������"' P<0.01 

NS     =  ����
������������������ 
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LSD(0.01)=5.73

a ab
abc

bc c c c

 
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
T8 = Control 
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����*�#�   T7 = Hand weeding   �� ���+�����	
����
�����"'������$�!*��	�*�!����������+��"��")&*)
�����*! 

������ 44  �4+���"������")&*)�'�������� 35 �"���"�.��&�� 

            3.2 �<&�����%�����������%�� 
            ����������	
����

������������������(Analysis of Varience)  �������� 7  &'��� 
�������� ���������!
�����������"���������#!��4+���"������")&*)�'�
'  ���������$�����)�
����+��"��")&*)�+�����4+���"�����#!��")&*)�'�
'��������"�!�������"��+�
",������������
(P�0.01)  -����� ������$�����)���� Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai ���4+���"�����
�")&*)�'�
'	.������+��(� 1.96 ��"�/0.25 �����	���  �!�����	�3�������$�����)���� Alachlor 360 

g ai/rai ���4+���"������")&*)�'�
'	.���� 2.01  ��"�/0.25 �����	��� ����������$� ��������+��"�
�")&*)���4+���"������")&*)�'�
'	.��������(� 6.22 ��"�/0.25 �����	��� 

0

10

20

30

40

50

60

T1 T2 T3 T4 T5 T6 T8

��������	�
�����
��

�
�	��
�
�� 
�
!�(
��
��/
0.
25
"
��
��
��
"
�) LSD(0.01)=2.30
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T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
T8 = Control 

����*�#�   T7 = Hand weeding   �� ���+�����	
����
�����"'������$�!*��	�*�!����������+��"��")&*)
�����*! 
������ 45  �4+���"������")&*)�'�
'��� 35 �"���"�.��&�� 
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            3.3 �<&�����%�����������()�� 
            ����������	
����

������������������(Analysis of Varience)  �������� 7  &'��� 
�������� ���������!
�����������"���������#!��4+���"������")&*)��/
��  ���������$�����)�
����+��"��")&*)�+�����4+���"�����#!��")&*)��/
����������"�!�������"��+�
",������������
(P�0.01)  -����� ������$�����)���� Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai ���4+���"�����
�")&*)��/
��	.������+��(� 9.17 ��"�/0.25 �����	���  �!�����	�3�������$�����)���� Alachlor 360 g 

ai/rai ���4+���"������")&*)��/
��	.���� 10.78  ��"�/0.25 �����	��� ����������$� ��������+��"�
�")&*)���4+���"������")&*)��/
��	.��������(� 35.83  ��"�/0.25 �����	���  
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LSD(0.01)=14.02

a

b
b b b b

b

 
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
T8 = Control 

����*�#�   T7 = Hand weeding   �� ���+�����	
����
�����"'������$�!*��	�*�!����������+��"��")&*)
�����*! 
������ 46  �4+���"������")&*)��/
����� 35 �"���"�.��&�� 
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            3.4 �<&�����%���������	�� 
            ����������	
����

������������������(Analysis of Varience)  �������� 7  �������
	������ �������� ���������!
�����������"���������#!��4+���"������")&*)���  �������
��$�����)�����+��"��")&*)�+�����4+���"�����#!��")&*)�����������"�!�������"��+�
",������������
(P�0.01)  -����� ������$�����)���� Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai ���4+���"�����
�")&*)���	.������+��(� 13.93 ��"�/0.25 �����	���  �!�����	�3�������$�����)���� Alachlor 180 g 

ai/rai + Oxyfluorfen 280 g ai/rai  ���4+���"������")&*)���	.���� 18.35  ��"�/0.25 �����	��� ����
������$� ��������+��"��")&*)���4+���"������")&*)���	.��������(� 50.94  ��"�/0.25 �����	��� 
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LSD(0.01)=13.70

a

b
b

b
b b

b

  
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
T8 = Control 

����*�#�   T7 = Hand weeding   �� ���+�����	
����
�����"'������$�!*��	�*�!����������+��"��")&*)
�����*! 
������ 47  �4+���"������")&*)������ 35 �"���"�.��&�� 
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4. �����:�$��;���*����� 
            4.1 �����:�$��;���*�������� 14 �������!�
�"� 
            ����������	
����

������������������(Analysis of Varience)  �������� 8  &'���  
�������� ���������!
�����������"���������#!�
������#!��"��	��*!�  ���������$�����)����
�+��"��")&*)�+����
������#!��"��	��*!���������"�!�������"��+�
",������������(P�0.01)  -�����
������$�����)���� Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai ��
������#!��"��	��*!�	.����
����(� 10.55 	5���	��� �!�����	�3�������$�����)���� Oxyfluorfen 280 g ai/rai, Alachlor 180 g 

ai/rai + Oxyfluorfen 280 g ai/rai ��� Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai ��
������
#!��"��	��*!�	.���� 10.4 	5���	��� ����������$���� ��������+��"��")&*)�"��	��*!���
������	.���� 

9.35 	5���	��� 

 
#�	����� 8  
������������������#!�
���
�������"��	��*!� 

�����
����������     14DAA 28DAA 42DAA 56DAA 

        

�������� (A)   NS NS NS NS 

        

��$�����)�����+��"��")&*) (B)  ** ** ** ** 

        

A x B     NS NS NS NS 

 CV(%)(Main-plot)       2.12 5.75 8.23 7.50 

 CV(%)(Sub-plot)    2.57 10.31 8.20 3.72 

DAA  = Day  After  Application 

*        = ��
������������������������"' P�0.05 

**      = ��
������������������������"' P�0.01 

NS     =  ����
������������������ 
 



55 
 

0

2

4

6

8

10

12

14

16

18

20

T1 T2 T3 T4 T5 T6 T7 T8

��������	�
�����
��

�
��
�
�#�
( �
$
�"

���
"
�)

a a a aab abb
c

LSD(0.01)=0.41

 
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
T7 = Hand weeding 

T8 = Control 

������ 48  
������#!��"��	��*!���� 14 �"���"�.��&��  
 
            4.2 �����:�$��;���*�������� 28 �������!�
�"� 

            ����������	
����

������������������(Analysis of Varience)  �������� 8  &'���  
�������� ���������!
�����������"���������#!�
������#!��"��	��*!�  ���������$�����)����
�+��"��")&*)�+����
������#!��"��	��*!���������"�!�������"��+�
",������������(P�0.01)  -�����
������$�����)���� Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai ��
������#!��"��	��*!�	.����
����(� 20.2 	5���	��� �!�����	�3�������$�����)���� Alachlor 360 g ai/rai + Oxyfluorfen 280 g 

ai/rai ��
������#!��"��	��*!�	.���� 19.9 	5���	��� ����������$���� ��������+��"��")&*)�"��	��*!���

������	.���� 14.2 	5���	��� 
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LSD(0.01)=2.96

a

bc
c

ab ab ab
ab ab

 
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
T7 = Hand weeding 

T8 = Control 

������ 49  
������#!��"��	��*!���� 28 �"���"�.��&��  
 

            4.3 �����:�$��;���*�������� 42 �������!�
�"� 
            ����������	
����

������������������(Analysis of Varience)  �������� 8  &'���  
�������� ���������!
�����������"���������#!�
������#!��"��	��*!�  ���������$�����)����
�+��"��")&*)�+����
������#!��"��	��*!���������"�!�������"��+�
",������������(P�0.01)  -�����
������$�����+��"��")&*)�����*!��
������#!��"��	��*!�����(�	.���� 51.9 	5���	��� �!�����	�3�
������$�����)���� Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai ��
������#!��"��	��*!�	.���� 

50.65 	5���	��� ����������$���� ��������+��"��")&*)�"��	��*!���
������	.���� 42.3 	5���	��� 
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LSD(0.01)=6.17

aab

abc
abc abc

bcbc
c

 
 T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
T7 = Hand weeding 

T8 = Control 

������ 50 
������#!��"��	��*!���� 42 �"���"�.��&��  
 
            4.4 �����:�$��;���*�������� 56 �������!�
�"� 

            ����������	
����

������������������(Analysis of Varience)  �������� 8  &'���  
�������� ���������!
�����������"���������#!�
������#!��"��	��*!�  ���������$�����)����
�+��"��")&*)�+����
������#!��"��	��*!���������"�!�������"��+�
",������������(P�0.01)  -�����
������$�����)���� Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai ��
������#!��"��	��*!�����(�
	.���� 55.0 	5���	��� �!�����	�3�������$�����)���� Alachlor 360 g ai/rai + Oxyfluorfen 280 g 

ai/rai ���������$�����+��"��")&*)�����*!��
������#!��"��	��*!�	.���� 54.1 	5���	��� ����������$�
��� ��������+��"��")&*)�"��	��*!���
������	.���� 42.3 	5���	��� 
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LSD(0.01)=3.13

a
a aab ab ab

bc
c

 
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
T7 = Hand weeding 

T8 = Control 

������ 51  
������#!��"��	��*!���� 56 �"���"�.��&��  
 

����#�����:�$��;���*����� 

            ������/0�1�&��"�
������#!��"��	��*!�������� 14, 28, 42 ��� 56 �"���"�.��&��(%�&��� 
52 – 59) �������	������
������#!��"��	��*!������-���	&���#04�!������!	�*�!��������	���#!�
���	���,	��'-�#!��"��	��*!�  -�����6��� ��������/0�1�&��"�#!�
�����������"�17�	�3����
�"� S -�����������#!����	���,	��'-�
��������	&���#04�!����)��2 �����	&���#04�!�������	���
	�3�	����������)�����	��������)��� 28 – 42 �"���"�.��&�� !���� ������������$�����)����
�+��"��")&*))���	���������&"9��
������ ����!���������)�����+��"��")&*)�''����"� ������
������$���� ��������+��"��")&*)�����&"9��
������ ����!��(�   
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y = -0.0027x3 + 0.2798x2 - 7.5614x + 68.373
R2 = 0.9974

y = -0.0026x3 + 0.2686x2 - 7.307x + 66.52
R2 = 0.9927
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������ 52  &��"�
�������"��	��*!�#!� T1 = Alachlor  360 g ai/rai   
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 

 

 

y = -0.002x3 + 0.213x2 - 5.6544x + 53.387
R2 = 0.99

y = -0.0026x3 + 0.269x2 - 7.1941x + 65.373
R2 = 0.9921
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������ 53  &��"�
�������"��	��*!�#!� T2 = Oxyfluorfen 280 g ai/rai 

_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 
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y = -0.0023x3 + 0.2427x2 - 6.5382x + 60.513
R2 = 0.9894

y = -0.0023x3 + 0.234x2 - 6.0861x + 55.793
R2 = 0.992
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������ 54 &��"�
�������"��	��*!�#!� T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 

 

 

y = -0.0027x3 + 0.2815x2 - 7.5521x + 68.387
R2 = 0.9949

y = -0.003x3 + 0.3121x2 - 8.3801x + 74.873
R2 = 0.9966
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������ 55 &��"�
�������"��	��*!�#!� T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 
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y = -0.003x3 + 0.3132x2 - 8.4166x + 75.34
R2 = 0.9797

y = -0.0029x3 + 0.3005x2 - 7.8922x + 70.173
R2 = 0.9983
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������ 56 &��"�
�������"��	��*!�#!� T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 

 

 

y = -0.0021x3 + 0.2209x2 - 5.6987x + 52.687
R2 = 0.9881

y = -0.0024x3 + 0.2594x2 - 7.0255x + 64.637
R2 = 0.9734
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������ 57 &��"�
�������"��	��*!�#!� T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 
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y = -0.0029x3 + 0.2995x2 - 7.8468x + 69.35
R2 = 0.9939

y = -0.0029x3 + 0.3011x2 - 8.0224x + 71.57
R2 = 0.9891
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������ 58 &��"�
�������"��	��*!�#!� T7 = Hand weeding 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 

 

y = -0.0026x3 + 0.2797x2 - 7.7868x + 70.767
R2 = 0.994

y = -0.0028x3 + 0.296x2 - 8.2483x + 74.527
R2 = 0.9918
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������ 59 &��"�
�������"��	��*!�#!� T8 = Control 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 

DAA  = Day  After  Application 
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5. 
������<������ 
            5.1  
������<������$��;���*�������� 14 �������!�
�"� 
            ����������	
����

������������������(Analysis of Varience)  �������� 9  �������
	������  �������� ���������!
�����������"���������#!��")��&*4�����'#!��"��	��*!�  �������
��$�����)�����+��"��")&*)�+�����")��&*4�����'#!��"��	��*!���������"�!�������"��+�
",������������
(P�0.01)  -�����  ������$�����+��"��")&*)�����*!���")��&*4�����'����(�	.���� 0.21 �!�����	�3�
������$�����)���� Alachlor  360 g ai/rai + Oxyfluorfen 280 g ai/rai  ���")��&*4�����'	.���� 0.2 ����
������$���� ��������+��"��")&*)���")��&*4�����'	.������+��(� 0.15  

             
#�	����� 9  
������������������#!��")��&*4�����'�"��	��*!� 

�����
����������     14DAA 28DAA 42DAA 56DAA 

        

�������� (A)   NS NS NS NS 

        

��$�����)�����+��"��")&*) (B)  ** * ** ** 

        

A x B     NS NS NS NS 

 CV(%)(Main-plot)       5.16 23.06 14.84 9.03 

 CV(%)(Sub-plot)    9.67 18.13 17.60 6.41 

DAA  = Day  After  Application 

*        = ��
������������������������"' P�0.05 

**      = ��
������������������������"' P�0.01 

NS     =  ����
������������������ 
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LSD(0.01)=0.02

a

bc
c

ab
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ab
ab ab

 
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
T7 = Hand weed 

T8 = Control 
������ 60  �")��&*4�����'#!��"��	��*!���� 14 �"���"�.��&��  
 
            5.2  
������<������$��;���*�������� 28 �������!�
�"� 
            ����������	
����

������������������(Analysis of Varience)  �������� 9  &'���  
�������� ���������!
�����������"���������#!��")��&*4�����'#!��"��	��*!�  ���������$�����)�
����+��"��")&*)�+�����")��&*4�����'#!��"��	��*!���������"�!�������"��+�
",������������(P�0.01)  

-�����  ������$�����)���� Oxyfluorfen 280 g ai/rai  ��� Alachlor 360 g ai/rai + Oxyfluorfen 140 g 

ai/rai ���")��&*4�����'����(�	.���� 0.255 �!�����	�3�������$�����+��"��")&*)�����*!���")��&*4�����'
	.���� 0.235 ����������$���� ��������+��"��")&*)���")��&*4�����'	.������+��(� 0.41 
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LSD(0.05)=0.04

a aab ababc
bc bc c

 
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
T7 = Hand weed 

T8 = Control 
������ 61  �")��&*4�����'#!��"��	��*!���� 28 �"���"�.��&��  
 
            5.3  
������<������$��;���*�������� 42 �������!�
�"� 
            ����������	
����

������������������(Analysis of Varience)  �������� 9  �������
	������  �������� ���������!
�����������"���������#!��")��&*4�����'#!��"��	��*!�  �������
��$�����)�����+��"��")&*)�+�����")��&*4�����'#!��"��	��*!���������"�!�������"��+�
",������������
(P�0.01)  -�����  ������$�����)���� Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai ���")��&*4�����'
����(�	.���� 0.635 �!�����	�3�������$�����)���� Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 

���")��&*4�����'	.���� 0.625����������$���� ��������+��"��")&*)���")��&*4�����'	.������+��(� 0.41  
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LSD(0.01)=0.15

aab ab ab

abc abc bc
c

 
 T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
T7 = Hand weed 

T8 = Control 
������ 62  �")��&*4�����'#!��"��	��*!���� 42 �"���"�.��&��  
 
            5.4  
������<������$��;���*�������� 56 �������!�
�"� 
        ����������	
����

������������������(Analysis of Varience)  �������� 9  �������
	������  �������� ���������!
�����������"���������#!��")��&*4�����'#!��"��	��*!�  �������
��$�����)�����+��"��")&*)�+�����")��&*4�����'#!��"��	��*!���������"�!�������"��+�
",������������
(P�0.01)  -�����  ������$�����)���� Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai ���")��&*4�����'
����(�	.���� 0.805 �!�����	�3�������$�����)���� Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 

���")��&*4�����'	.���� 0.785 ����������$���� ��������+��"��")&*)���")��&*4�����'	.������+��(� 0.53 
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a ab
bccd cd

d

e e

LSD(0.01)=0.06

 
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 

T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
T7 = Hand weed 

T8 = Control 
������ 63  �")��&*4�����'#!��"��	��*!���� 56 �"���"�.��&��  
 

����#
������<������$��;���*�����
������/0�1�&��"��")��&*4�����'#!��"��	��*!�������� 14, 28, 42 ��� 56 �"���"�.��&��

(%�&��� 64 – 12) �������	������  �")��&*4�����'#!��"��	��*!������-���	&���#04�!������!	�*�!����
����	���#!����	���,	��'-�#!��"��	��*!�  -�����6��� ��������/0�1�&��"�#!��")��&*4�����'
�����"�17�	�3�����"� S -�����������#!����	���,	��'-��")��&*4�����'��	&���#04�!����)��2 

�����	&���#04�!�������	���	�3�	����������)�����	��������)��� 28 – 42 �"���"�.��&�� 

!���� ������������$�����)�����+��"��")&*))���	���������&"9���")��&*4�����' ����!���������)����
�+��"��")&*)�''����"� ������������$���� ��������+��"��")&*)�����&"9���")��&*4�����'��!��(�   
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y = -3E-05x3 + 0.0033x2 - 0.0959x + 0.9528
R2 = 0.9078

y = -3E-05x3 + 0.0028x2 - 0.0798x + 0.8234
R2 = 0.985
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������ 64  �")��&*4�����'#!� T1 = Alachlor  360 g ai/rai   
 _____ S1 = ���� 25 x 25 cm.  _ _ _ _ _ S2 = ���� 25 x 50 cm. 

y = -3E-05x3 + 0.0032x2 - 0.0939x + 0.9638
R2 = 0.9687

y = -3E-07x3 + 0.0002x2 + 0.0028x + 0.1118
R2 = 0.9581
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������ 65  �")��&*4�����'#!� T2 = Oxyfluorfen 280 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm 
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y = -4E-05x3 + 0.0041x2 - 0.1142x + 1.0793
R2 = 0.9951

y = -4E-05x3 + 0.0043x2 - 0.1227x + 1.1898
R2 = 0.953
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������ 66  �")��&*4�����'#!� T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm 

y = -5E-05x3 + 0.005x2 - 0.1379x + 1.2326
R2 = 0.9792

y = -4E-05x3 + 0.0039x2 - 0.1113x + 1.083
R2 = 0.982
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������ 67  �")��&*4�����'#!� T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm 
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y = -3E-05x3 + 0.0032x2 - 0.0905x + 0.9117
R2 = 0.963

y = -2E-05x3 + 0.0025x2 - 0.0674x + 0.7097
R2 = 0.9837
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������ 68  �")��&*4�����'#!� T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm 

y = -5E-05x3 + 0.0054x2 - 0.1612x + 1.5322
R2 = 0.9424

y = -3E-05x3 + 0.0036x2 - 0.1043x + 1.04
R2 = 0.9795
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������ 69  �")��&*4�����'#!� T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm 
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y = -3E-05x3 + 0.0032x2 - 0.0914x + 0.9407
R2 = 0.9388

y = -7E-06x3 + 0.001x2 - 0.0293x + 0.4541
R2 = 0.8924
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������ 70  �")��&*4�����'#!� T7 = Hand weeding 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm 

 

 

y = -2E-05x3 + 0.0023x2 - 0.0641x + 0.665
R2 = 0.9866

y = -2E-05x3 + 0.0018x2 - 0.0509x + 0.554
R2 = 0.9258
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������ 71  �")��&*4�����'#!� T8 = Control 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm 
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6. '&����$��
            6.1 '&����$��$��;���*�������� 14 �������!�
�"� 
            ����������	
����

������������������(Analysis of Varience)  �������� 10  �������
	������  �������� ���������!
�����������"���������#!��+����#�!#!��"��	��*!�  �������
��$�����)�����+��"��")&*)�+�����+����#�!#!��"��	��*!���������"�!�������"��+�
",������������
(P�0.01)  -����� Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai ���+����#�!����(�	.���� 4  #�!  

����������$���� ��������+��"��")&*)���+����#�!	.������+��(� 3 #�!  

 

#�	����� 10  
������������������#!��+����#�!#!��"��	��*!� 

�����
����������     14DAA 28DAA 42DAA 56DAA 

        

�������� (A)   NS NS * NS 

        

��$�����)�����+��"��")&*) (B)  ** ** NS ** 

        

A x B     NS NS NS NS 

 CV(%)(Main-plot)       3.75 5.17 4.78 5.35 

 CV(%)(Sub-plot)    4.10 8.03 7.92 4.99 

DAA  = Day  After  Application 

*        = ��
������������������������"' P�0.05 

**      = ��
������������������������"' P�0.01 

NS     =  ����
������������������ 
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LSD(0.01)=0.21

a ab ababc abc bcdcd
d

 
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
T7 = Hand weed 

T8 = Control 
������ 72  �+����#�!#!��"��	��*!���� 14 �"���"�.��&��  
 
            6.2 '&����$��$��;���*�������� 28 �������!�
�"� 
            ����������	
����

������������������(Analysis of Varience)  �������� 10  �������
	������  �������� ���������!
�����������"���������#!��+����#�!#!��"��	��*!�  �������
��$�����)�����+��"��")&*)�+�����+����#�!#!��"��	��*!���������"�!�������"��+�
",������������
(P�0.01)  -����� Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai ���+����#�!	.��������(� 6  #�!  

����������$���� ��������+��"��")&*)���+����#�!	.������+��(� 5 #�!  
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LSD(0.01)=0.74

a

cbc
ab ab ab ab ab

 
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
T7 = Hand weed 

T8 = Control 
������ 73  �+����#�!#!��"��	��*!���� 28 �"���"�.��&�� 

 

            6.3 '&����$��$��;���*�������� 42 �������!�
�"� 
            ����������	
����

������������������(Analysis of Varience)  �������� 10 &'��� 
���������"4��!��������+����#�!��������"�!�������"��+�
",��������(P�0.05)  -���������������
���� 25 x 50 	5���	������+����#�!#!��"��	��*!�	.���� 9 #�!  ����������������� 25 x 25 

	5���	������+����#�!�"��	��*!�	.���� 8 #�! ����������$�����������+��"��")&*) ���������!�+����
#�!#!��"��	��*!� 
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#�	����� 11 �+����#�!#!��"��	��*!��������������� 25 x 25 ��� 25 x 50 	5���	���             
��������(	5���	���) �+����#�!#!��"��	��*!� 

 

25 x 25  8 

   

25 x 50   9 

   

LSD(0.05) = 0.50 

            6.4 '&����$��$��;���*�������� 56 �������!�
�"� 
            ����������	
����

������������������(Analysis of Varience)  �������� 10  �������
	������  �������� ���������!
�����������"���������#!��+����#�!#!��"��	��*!�  �������
��$�����)�����+��"��")&*)�+�����+����#�!#!��"��	��*!���������"�!�������"��+�
",������������
(P�0.01)  -����� Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai ���+����#�!����(�	.���� 12 #�!  

����������$���� ��������+��"��")&*)���+����#�!	.������+��(� 10 #�!  
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LSD(0.01)=0.89

c
c

a aabab
b b

 
T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
T7 = Hand weed 
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T8 = Control 
������ 74  �+����#�!#!��"��	��*!���� 56 �"���"�.��&�� 

 

����#'&����$��$��;���*����� 
            ������/0�1�&��"��+����#�!#!��"��	��*!�������� 14, 28, 42 ��� 56 �"���"�.��&��(%�&
��� 75 – 82) �������	������ �+����#�!#!��"��	��*!������-���	&���#04�!������!	�*�!�	�3�	������
�������	���#!����	���,	��'-�#!��"��	��*!� -�����������$�����)���� Alachlor 180 g ai/rai + 

Oxyfluorfen 140 g ai/rai (%�&��� 6) ���+����#�!#!��"��	��*!�	.��������(� 13 #�!��� 56 �"���"�.��&�� 

������������$���� ��������)�����+��"��")&*)���+����#�!#!��"��	��*!�	.������+��(� 9 #�!��� 56 �"�
��"�.��&��    
            

y = 0.1595x + 0.9667
R2 = 0.9009

y = 0.169x + 0.9
R2 = 0.9684
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������ 75  �+����#�!�"��	��*!�#!� T1 = Alachlor  360 g ai/rai   
 _____ S1 = ���� 25 x 25 cm.  _ _ _ _ _ S2 = ���� 25 x 50 cm. 
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y = 0.1781x + 0.9
R2 = 0.9663

y = 0.1867x + 0.7333
R2 = 0.9633
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������ 76  �+����#�!�"��	��*!�#!� T2 = Oxyfluorfen 280 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm 

 

y = 0.2062x + 0.2
R2 = 0.9589

y = 0.18x + 1.2
R2 = 0.9716
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������ 77  �+����#�!�"��	��*!�#!� T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm 
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y = 0.2029x + 0.5
R2 = 0.9878

y = 0.2029x + 0.4
R2 = 0.9913
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������ 78  �+����#�!�"��	��*!�#!� T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm 

 

y = 0.2114x + 0.3667
R2 = 0.9636

y = 0.2014x + 0.7
R2 = 0.9848
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������ 79  �+����#�!�"��	��*!�#!� T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm 
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y = 0.1924x + 0.5333
R2 = 0.9145

y = 0.2086x + 0.2
R2 = 0.957
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������ 80 �+����#�!�"��	��*!�#!� T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm 

 

y = 0.1876x + 0.6667
R2 = 0.975

y = 0.1948x + 0.5667
R2 = 0.98
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������ 81  �+����#�!�"��	��*!�#!� T7 = Hand weeding 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm 
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y = 0.1621x + 0.7167
R2 = 0.9584

y = 0.1652x + 0.7333
R2 = 0.9625
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������ 82  �+����#�!�"��	��*!�#!� T8 = Control 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm 
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��	�
������ 2  
1. 
	�������������	������������ 

            1.1 
	�������������	������������������� 
            ������'"��0�������$�%�& �����
�'
(��")&*)���	%��'����� (�������� 11 ��� �������� 
12)  �������	���������(�������$�����)�����+��"��")&*)��������$�%�&�����
�'
(��")&*)�'
�������� 7 - 28 �"���"�.��&�� ��!������'��7
(100%)  �"4��!���������  %����"����.��&�����
�+��"��")&*) 35 �"�  ��������$�����)�����+��"��")&*)  Alachlor  360 g ai/rai + Oxyfluorfen 280 g 

ai/rai, Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai  #!��������������� 25 x 25 ��� 25 x 50 

	5���	���  ��������$�%�&�����
�'
(��")&*)�'����� ��!������'��7
(100%)  ����)�����+��"�
�")&*) Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai  ���������$�����)���� Alachlor  180 g 

ai/rai + Oxyfluorfen 140 g ai/rai ��� Oxyfluorfen 280 g ai/rai  ��������$�%�&�����
�'
(�
�")&*)�'�������+�����	�����!�����"�!��������"'��'��7
(81 – 100%)  ����������$�����)���� 

Alachlor  360 g ai/rai ��������$�%�&�����
�'
(��")&*) 97% �"4� �!��������� 

 
#�	����� 12 ������$�%�&�����
�'
(��")&*)�'�����#!��������� 25 x 25 	5���	���
(	�!�
	5���
) 
)�������+��"��")&*) 

 

�+�����"���"�.��&�� 

7 14 21 28 35 

Alachlor  360 g ai/rai 100 100 100 100 97 

Oxyfluorfen 280 g ai/rai 100 100 100 100 98 

Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 100 100 100 100 98 

Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 100 100 100 100 100 

Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 100 100 100 100 100 

Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 100 100 100 100 100 
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#�	����� 13 ������$�%�&�����
�'
(��")&*)�'�����#!��������� 25 x 50 	5���	���
(	�!�
	5���
) 
)�������+��"��")&*) �+�����"���"�.��&�� 

7 14 21 28 35 

Alachlor  360 g ai/rai 100 100 100 100 97 

Oxyfluorfen 280 g ai/rai 100 100 100 100 98 

Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 100 100 100 100 98 

Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 100 100 100 100 98 

Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 100 100 100 100 100 

Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 100 100 100 100 100 

 

            1.2 
	�������������	��������������%�� 

            ������'"��0�������$�%�& �����
�'
(��")&*)���	%��'�
' (�������� 13 ��� �����
��� 14)  �������	������  ���(�������$�����)�����+��"��")&*)��������$�%�&�����
�'
(��")&*)
�'�
'��� 7 - 28 �"���"�.��&�� ��!������'��7
(100%)  �"4��!���������  %����"����.��&�����
�+��"��")&*) 35 �"�  ��������$�����)�����+��"��")&*)  Alachlor  360 g ai/rai + Oxyfluorfen 280 g 

ai/rai  #!��������������� 25 x 50 	5���	�����������$�%�&�����
�'
(��")&*)�'�
' ��!����
��'��7
(100%)  ������$�����)�����+��"��")&*)  Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai, 

Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai ��� Oxyfluorfen 280 g ai/rai  ��������$�%�&��
���
�'
(��")&*)�'�
'��+�����	�����!�����"�!��������"'��'��7
(81 – 100%)  ����������$�����)�
��� Alachlor  360 g ai/rai ��������$�%�&�����
�'
(��")&*)�'�
' 90%  #!��������������� 

25 x 50 	5���	��� 
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#�	����� 14 ������$�%�&�����
�'
(��")&*)�'�
'#!��������� 25 x 25 	5���	���
(	�!�
	5���
) 
)�������+��"��")&*) �+�����"���"�.��&�� 

7 14 21 28 35 

Alachlor  360 g ai/rai 100 100 100 100 95 

Oxyfluorfen 280 g ai/rai 100 100 100 100 95 

Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 100 100 100 100 93 

Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 100 100 100 100 98 

Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 100 100 100 100 97 

Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 100 100 100 100 98 
 

#�	����� 15 ������$�%�&�����
�'
(��")&*)�'�
'#!��������� 25 x 50 	5���	���
(	�!�
	5���
) 
)�������+��"��")&*) �+�����"���"�.��&�� 

7 14 21 28 35 

Alachlor  360 g ai/rai 100 100 100 100 90 

Oxyfluorfen 280 g ai/rai 100 100 100 100 93 

Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 100 100 100 100 95 

Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 100 100 100 100 98 

Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 100 100 100 100 97 

Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 100 100 100 100 100 

            1.3 
	�������������	��������������()�� 
            ������'"��0�������$�%�& �����
�'
(��")&*)��/
�� (�������� 15 ��� �������� 16)  

�������	������  ��������$�����)�����+��"��")&*)  Alachlor  360 g ai/rai + Oxyfluorfen 280 g ai/rai  

��� Oxyfluorfen 280 g ai/rai  #!��������������� 25 x 25 ��� 25 x 50 	5���	���  ��
������$�%�&�����
�'
(��")&*)��/
����� 7 �"���"�.��&�� ��!������'��7
(100%) ��������
��$�����)�����+��"��")&*)��������$�!*����������$�%�&�����
�'
(��")&*)��/
����+�����	�����!�
����"�!��������"'��'��7
(81 – 100%)  %����"����.��&������+��"��")&*)��������$�����)����
�+��"��")&*)  Alachlor  360 g ai/rai + Oxyfluorfen 280 g ai/rai #!��������������� 25 x 25 ��� 25 

x 50 	5���	���  ��������$�%�&�����
�'
(��")&*)��/
����� 35 �"���"�.��&�� ��!������'��7
!���
�����"'  95  	�!�
	5���
  ������$�����)�����+��"��")&*) Alachlor 180 g ai/rai + Oxyfluorfen 280 g 
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ai/rai ,Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai ��� Alachlor 180 g ai/rai + Oxyfluorfen 140 g 

ai/rai50���"���������$�%�&�����
�'
(��")&*)��/
�� ����������"�!��������"'
�'
(� ��!����
��'��7
(80-100%) ����������$�����)���� Alachlor  360 g ai/rai ��� Oxyfluorfen 280 g ai/rai  ��
������$�%�&�����
�'
(��")&*)��/
��!��������"'
�'
(� ����(61-80%) 
 

#�	����� 16  ������$�%�&�����
�'
(��")&*)��/
��#!��������� 25 x 25 	5���	��� 

                    (	�!�
	5���
) 
)�������+��"��")&*) �+�����"���"�.��&�� 

7 14 21 28 35 

Alachlor  360 g ai/rai 95 90 90 88 88 

Oxyfluorfen 280 g ai/rai 100 93 93 93 87 

Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 95 93 93 90 88 

Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 97 93 93 93 90 

Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 95 95 95 95 92 

Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 100 98 98 95 95 

 
#�	����� 17  ������$�%�&�����
�'
(��")&*)��/
��#!��������� 25 x 50 	5���	��� 

                    (	�!�
	5���
) 
)�������+��"��")&*) �+�����"���"�.��&�� 

7 14 21 28 35 

Alachlor  360 g ai/rai 95 88 88 88 85 

Oxyfluorfen 280 g ai/rai 100 93 93 93 88 

Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 93 92 92 92 87 

Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 95 93 93 93 92 

Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 95 95 95 95 95 

Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 100 98 98 95 95 
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2. 	�
������*
+���, 
            2.1 	�
������*
+���,(Phytotoxic)���	��� 7 �������!�
�"� 
            ����������	
����

������������������(Analysis of Varience)  �������� 17  �������
	������  �������� ����
�����������"���������#!�
���	�3�&�1(Phytotoxic)���"��	��*!�   ���
������$�����)�����+��"��")&*)�+����
���	�3�&�1(Phytotoxic)  ��������"�!�������"��+�
",���
�����(P�0.05)  -�����������$�����)���� Alachlor  360 g ai/rai + Oxyfluorfen 280 g ai/rai  ��
���
	�3�&�1����(�	.���� 50.83 %   �����������$�����)���� Alachlor 180 g ai/rai + Oxyfluorfen 140 g 

ai/rai   ��
���	�3�&�1��+��(�	.���� 40.0 %  ��������)���� Alachlor  360 g ai/rai  ������!����
	�3�&�1��!�"��	��*!� 

 
#�	����� 18  
������������������#!�
���	�3�&�1��!�"��	��*!�#!�����+��"��")&*) Alachlor  
                      ���   Oxyfluorfen 

�����
����������     7DAA 14DAA 21DAA 28DAA 35DAA 

         

�������� (A)   NS NS NS NS NS 

         

��$�����)�����+��"��")&*) (B)  * ** ** ** ** 

         

A x B     NS * NS NS NS 

CV(%)(Main-plot)       5.91 18.91 2.66 2.86 12.24 

CV(%)(Sub-plot)    10.05 5.44 4.49 5.25 8.68 

DAA  = Day  After  Application 

*        = ��
������������������������"' P�0.05 

**      = ��
������������������������"' P�0.01 

NS     =  ����
������������������ 
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LSD(0.05)=5.69

aab abbc
c

 
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
����*�#�   T1 = Alachlor  360 g ai/rai   �� ���+�����	
����
�����"'������$�!*��	�*�!�����"��	��*!�  
                    ������!����	�3�&�1 
������ 83 
���	�3�&�1������� 7 �"���"�.��&�� 

 
            2.2 	�
������*
+���,(Phytotoxic)���	��� 14 �������!�
�"� 
            ����������	
����

������������������(Analysis of Varience)  �������� 17 �������
	������  �������� ����
�����������"���������#!�
���	�3�&�1(Phytotoxic)���"��	��*!�   ���
������$�����)�����+��"��")&*)�+����
���	�3�&�1(Phytotoxic)  ��������"�!�������"��+�
",�������
�����(P�0.01) ���&'�8��"�&"�$
�������������$�����)�����+��"��")&*)�"'��������  -�����
������$�����)���� Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai   ��
���	�3�&�1����(�	.���� 

66.67 % �����������$�����)���� Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai   ��
���	�3�&�1
��+��(�	.���� 46.67 %  ��������)���� Alachlor  360 g ai/rai  ������!����	�3�&�1��!�"��	��*!�    
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LSD(0.01)=5.10

a
a

b
cc

 
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
����*�#�   T1 = Alachlor  360 g ai/rai   �� ���+�����	
����
�����"'������$�!*��	�*�!�����"��	��*!�  
                    ������!����	�3�&�1 
������ 84 
���	�3�&�1������� 14 �"���"�.��&�� 
 
            2.3 	�
������*
+���,(Phytotoxic)���	��� 21 �������!�
�"� 
            ����������	
����

������������������(Analysis of Varience)  �������� 17  &'���  
�������� ����
�����������"���������#!�
���	�3�&�1(Phytotoxic)���"��	��*!�   �������
��$�����)�����+��"��")&*)�+����
���	�3�&�1(Phytotoxic)  ��������"�!�������"��+�
",������������
(P�0.01) -�����������$�����)���� Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai ��
���	�3�&�1
����(�	.���� 70.83 % �����������$�����)���� Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai   ��

���	�3�&�1��+��(�	.���� 47.50 %  ��������)���� Alachlor  360 g ai/rai  ������!����	�3�&�1��!
�"��	��*!�    
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��
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LSD(0.01)=4.48

a
b b

c
c

 
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
����*�#�   T1 = Alachlor  360 g ai/rai   �� ���+�����	
����
�����"'������$�!*��	�*�!�����"��	��*!�  
                    ������!����	�3�&�1 
������ 85 
���	�3�&�1������� 21 �"���"�.��&�� 
 
            2.4 	�
������*
+���,(Phytotoxic)���	��� 28 �������!�
�"� 
            ����������	
����

������������������(Analysis of Varience)  �������� 17  &'���  
�������� ����
�����������"���������#!�
���	�3�&�1(Phytotoxic)���"��	��*!�   �������
��$�����)�����+��"��")&*)�+����
���	�3�&�1(Phytotoxic)  ��������"�!�������"��+�
",������������
(P�0.01) -�����������$�����)���� Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai ��
���	�3�&�1
����(�	.���� 80.0 % �����������$�����)���� Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai   ��

���	�3�&�1��+��(�	.���� 46.67 %  ��������)���� Alachlor  360 g ai/rai  ������!����	�3�&�1��!
�"��	��*!�    
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LSD(0.01)=5.65

a

b b

d

c

 
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
����*�#�   T1 = Alachlor  360 g ai/rai   �� ���+�����	
����
�����"'������$�!*��	�*�!�����"��	��*!�  
                    ������!����	�3�&�1 
������ 86  
���	�3�&�1������� 28 �"���"�.��&�� 
 
            2.5 	�
������*
+���,(Phytotoxic)���	��� 35 �������!�
�"� 
            ����������	
����

������������������(Analysis of Varience)  �������� 17  &'���  
�������� ����
�����������"���������#!�
���	�3�&�1(Phytotoxic)���"��	��*!�   �������
��$�����)�����+��"��")&*)�+����
���	�3�&�1(Phytotoxic)  ��������"�!�������"��+�
",������������
(P�0.01) -�����������$�����)���� Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai ��
���	�3�&�1
����(�	.���� 88.33 % �����������$�����)���� Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai   ��

���	�3�&�1��+��(�	.���� 46.67 %  ��������)���� Alachlor  360 g ai/rai  ������!����	�3�&�1��!
�"��	��*!� 
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LSD(0.01)=10.00

a

c

b
b b

 
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
����*�#�   T1 = Alachlor  360 g ai/rai   �� ���+�����	
����
�����"'������$�!*��	�*�!�����"��	��*!�  
                    ������!����	�3�&�1 
������ 87  
���	�3�&�1������� 35 �"���"�.��&�� 
 
����#	�
������*
+���,(Phytotoxic) 
            ������/0�1�&��"�#!����"'
���	�3�&�1(Phytotoxic) ���"��	��*!� (%�&��� 6 - 10)  ����
���	���������"'
���	�3�&�1(Phytotoxic)���"��	��*!������-���	&���#04�������	���,	��'-�#!�
����"��	��*!�  -�����6��� ��������/0�1�&��"�#!����"'
���	�3�&�1�����"�17�	�3�	������  

50���"��	��*!�������!����	�3�&�1	&���#04�	�*�!�2 �����������$����������)���� Oxyfluorfen ��
!"������ �"4��''	����� ����''����"'��� Alachlor  �����-��������
���	�3�&�1�����������)���� 

Oxyfluorfen ��!"�����+� ������������� 25 x 25 	5���	��� �����-��������	�3�&�1����������
���������� 25 x 50 	5���	���   
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y = 0.5x + 41.833
R2 = 0.4632

y = 0.7381x + 39.5
R2 = 0.728
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������ 88  
���	�3�&�1#!� T2 = Oxyfluorfen 280 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm.  

 

y = 0.3095x + 38.833
R2 = 0.4356

y = 0.2857x + 42
R2 = 0.3529
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������ 89  
���	�3�&�1#!� T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm 

 



92 
 

y = 0.9524x + 40.333
R2 = 0.7968

y = 0.8571x + 41.667
R2 = 0.7864
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������ 90  
���	�3�&�1#!� T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm 

 

y = 0.7381x + 47.5
R2 = 0.673

y = 0.8571x + 44.667
R2 = 0.804
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������ 91  
���	�3�&�1#!� T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm 
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y = 1.4524x + 41.833
R2 = 0.8629

y = 1.0714x + 47.833
R2 = 0.8552
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������ 92  
���	�3�&�1#!� T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 

_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm 
 

3. �<&�����%��������� 

3.1 �<&�����%������������ 35 �������!�
�"� 
            3.1.1 �<&�����%���������������� 

            ��������/0�1�
��	.�������
���
���	
�*�!�����:��  �������� 18  �������	������  
������$�����)���� Alachlor  360 g ai/rai ���4+���"������")&*)�'�����	.���� 11.41 ± 12.42 kg/rai   

������������$���� ��������+��"��")&*)���4+���"������")&*)�'�����	.���� 30.48 ± 27.24 kg/rai    

            ��������/0�1�
��	.�������
���
���	
�*�!�����:��  �������� 19  &'���  ������$�����)�
��� Alachlor  360 g ai/rai  ���4+���"������")&*)�'�����	.���� 10.15 ± 8.89 kg/rai   �����������$�
����)���� Oxyfluorfen 280 g ai/rai ���4+���"������")&*)�'�����	.���� 6.10 ± 10.57 kg/rai   ������
������$���� ��������+��"��")&*)���4+���"������")&*)�'�����	.���� 45.90 ± 18.79 kg/rai    

   
            3.1.2 �<&�����%�����������%�� 
            ��������/0�1�
��	.�������
���
���	
�*�!�����:��  �������� 18 &'���  ��������$����
�)���� Alachlor  360 g ai/rai ���4+���"������")&*)�'�
'	.���� 2.47 ± 4.29 kg/rai   ������
������$���� ��������+��"��")&*)���4+���"������")&*)�'�
'	.���� 84.97 ± 27.95 kg/rai      

            ��������/0�1�
��	.�������
���
���	
�*�!�����:��  �������� 19  �������	������
������$�����)����  Alachlor  360 g ai/rai ���4+���"������")&*)�'�
'	.���� 7.15 ± 6.85 kg/rai   ����
��������$���� ��������+��"��")&*)���4+���"������")&*)�'�
'	.���� 83.28 ± 13.78 kg/rai      
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            3.1.3 �<&�����%�����������()�� 
            ��������/0�1�
��	.�������
���
���	
�*�!�����:��  �������� 18 &'���  ��������$����
�)���� Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai  ���4+���"������")&*)��/
��	.������+��(� 

5.78 ± 4.31 kg/rai  �!�����	�3�������$�����)���� Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai  

���4+���"������")&*)��/
��	.���� 5.97 ± 3.76 kg/rai ������������$���� ��������+��"��")&*)��
�4+���"������")&*)��/
��	.���� 99.05 ± 54.71 kg/rai   

            ��������/0�1�
��	.�������
���
���	
�*�!�����:��  �������� 19  �������	������  ��
������$�����)���� Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai  ���4+���"������")&*)��/
��
	.������+��(� 3.95 ± 0.96 kg/rai  �!�����	�3�������$�����)���� Alachlor 360 g ai/rai + Oxyfluorfen 

140 g ai/rai  ���4+���"������")&*)��/
��	.����  6.98 ± 3.65 kg/rai  ������������$���� ��������+��"�
�")&*)���4+���"������")&*)��/
��	.���� 116.78 ± 6.87 kg/rai   

 

            3.1.4 �<&�����%���������	�� 

            ��������/0�1�
��	.�������
���
���	
�*�!�����:��  �������� 18 �������	������  �� 

������$�����)���� Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai ���4+���"������")&*)���	.����
��+��(� 5.78 ± 4.31 kg/rai  �!�����	�3�������$�����)���� Alachlor 180 g ai/rai + Oxyfluorfen 280 

g ai/rai  ���4+���"������")&*)���	.���� 5.97 ± 3.76 kg/rai    ������������$���� ��������+��"��")&*)��
�4+���"������")&*)���	.���� 214.51 ± 16.14 kg/rai   
            ��������/0�1�
��	.�������
���
���	
�*�!�����:��  �������� 19  &'���  �� ������$����
�)����  Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai  ���4+���"������")&*)���	.������+��(� 3.95 

± 3.65 kg/rai  �!�����	�3�������$�����)���� Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai  ��
�4+���"������")&*)���	.����  6.98 ± 3.65 kg/rai  ������������$���� ��������+��"��")&*)���4+���"�
�����")&*)���	.���� 245.97 ± 36.76 kg/rai     
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#�	�����  19 
��	.�������
���
���	
�*�!�����:��#!��4+���"������")&*)������� 35 �"���"�.�� 

                     &���������������� 25 x 25 	5���	��� 

������$�����)�����+��"��")&*) �'�����
(kg/rai) 

�'�
'
(kg/rai) 

�� 

(kg/rai) 

��� 

(kg/rai) 

Alachlor  360 g ai/rai 11.41±12.42 2.47±4.29 15.40±13.87 29.29±6.74 

Oxyfluorfen 280 g ai/rai N/A N/A 19.01±4.23 19.01±4.23 

Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai N/A N/A 18.32±7.39 18.32±7.39 

Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai N/A N/A 5.97±3.76 5.97±3.76 

Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai N/A N/A 7.76±4.20 7.76±4.21 

Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai N/A N/A 5.78±4.31 5.78±4.31 

Hand weeding   N/A N/A N/A N/A 

Control 30.48±27.24 84.97±27.95 99.05±54.71 214.51±16.14 

N/A = Not Available 

 

#�	�����  20 
��	.�������
���
���	
�*�!�����:��#!��4+���"������")&*)������� 35 �"���"�.�� 

                    &���������������� 25 x 50 	5���	��� 

������$�����)�����+��"��")&*) �'�����
(kg/rai) 

�'�
'
(kg/rai) 

�� 

(kg/rai) 

��� 

(kg/rai) 

Alachlor  360 g ai/rai 10.15±8.89 7.15±6.85 21.42±35.04 38.72±8.15 

Oxyfluorfen 280 g ai/rai 6.10±10.57 N/A 18.28±14.65 24.38±25.22 

Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai N/A N/A 11.48±3.60 11.48±3.60 

Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai N/A N/A 7.23±5.32 7.23±5.31 

Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai N/A N/A 6.98±3.65 6.98±3.65 

Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai N/A N/A 3.95±0.96 3.95±3.65 

Hand weeding   N/A N/A N/A N/A 

Control 45.90±18.79 83.28±13.78 116.78±6.87 245.97±36.76 

N/A = Not Available 

 



96 
 

3.2 �<&�����%���������(	���*�?�*�����) 
            3.2.1 �<&�����%���������������� 

            ����������	
����

������������������(Analysis of Varience)  �������� 20  �������
	�������������� ���������!
�����������"���������#!��4+���"������")&*)�'�����  �������
��$�����)�����+��"��")&*)�+�����4+���"�����#!��")&*)�'�������������"�!�������"��+�
",�������
�����(P�0.01) -�����  ������$�����+��"��")&*)�����*!���4+���"������")&*)	.������+��(� 11.40 kg/rai  

�!�����	�3�������$�����)���� Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai ���4+���"�����
�")&*)	.���� 29.41  kg/rai  ����������$���� ��������+��"��")&*)���4+���"������")&*)	.��������(� 

103.77  kg/rai   

 
#�	�����  21 
������������������#!��4+���"������")&*)�������	��'	����� 

�����
����������   ����� �
' �� ��� 

      

�������� (A)  NS NS ** NS 

       

��$�����)�����+��"��")&*) (B) ** ** ** ** 

       

A x B    NS NS NS NS 

CV(%)(Main-plot)     46.88 9.58 3.15 8.37 

 CV(%)(Sub-plot) 32.66 43.90 51.44 19.97 

*        = ��
������������������������"' P<0.05 

**      = ��
������������������������"' P<0.01 

NS     =  ����
������������������ 
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T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
T7 = Hand weeding   
T8 = Control 

������ 93  �4+���"������")&*)�'������������	��'	����� 

 

            3.2.1 �<&�����%�����������%�� 
            ����������	
����

������������������(Analysis of Varience)  �������� 20  �������
	������ �������� ���������!
�����������"���������#!��4+���"������")&*)�'�
'  �������
��$�����)�����+��"��")&*)�+�����4+���"�����#!��")&*)�'�
'��������"�!�������"��+�
",�������
�����(P�0.01)  -�����  ������$�����+��"��")&*)�����*!���4+���"������")&*)	.������+��(� 13.62  kg/rai  

�!�����	�3�������$�����)���� Oxyfluorfen 280 g ai/rai ���4+���"������")&*)	.���� 58.22  kg/rai    

����������$���� ��������+��"��")&*)���4+���"������")&*)	.��������(� 166.88 kg/rai     
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T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
T7 = Hand weeding   
T8 = Control 

������ 94  �4+���"������")&*)�'�
'�������	��'	����� 
 
            3.2.3 �<&�����%�����������()�� 
            ����������	
����

������������������(Analysis of Varience)  �������� 20 �������
	������  ���������"4��!��������������$�����)�����+��"��")&*)�+�����4+���"������")&*)��/
��
��������"�!�������"��+�
",������������(P�0.01) -�����  �������� 25 x 50 	5���	������4+���"�
�����")&*)	.���� 67.87  kg/rai    ������������������ 25 x 25 	5���	������4+���"������")&*)��/
��
	.���� 58.23  kg/rai    ������$�����+��"��")&*)�����*!���4+���"������")&*)	.������+��(� 5.10  kg/rai    

�!�����	�3�������$�����)���� Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai  ���4+���"�����
�")&*)��/
��	.���� 55.84  kg/rai    ����������$���� ��������+��"��")&*)���4+���"������")&*)	.����
����(� 136.09 kg/rai     
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#�	����� 22 �4+���"������")&*)��/
���������������� 25 x 25 ��� 25 x 50 	5���	���             
��������(	5���	���) �4+���"������")&*)��/
�� 

(��"�/0.25 �����	���) 

25 x 25  9.09 

   

25 x 50   10.60 

   

LSD(0.01) = 0.38 
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T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
T7 = Hand weeding   
T8 = Control 

������ 95  �4+���"������")&*)��/
���������	��'	����� 
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            3.2.4 �<&�����%���������	�� 

            ����������	
����

������������������(Analysis of Varience)  �������� 20 �������
	������ �������� ���������!
�����������"���������#!��4+���"������")&*)���  �������
��$�����)�����+��"��")&*)�+�����4+���"�����#!��")&*)�����������"�!�������"��+�
",������������
(P�0.01)  -����� ������$�����+��"��")&*)�����*!���4+���"������")&*)���	.������+��(� 30.19  kg/rai    

�!�����	�3�������$�����)���� Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai ���4+���"�����
�")&*)	.���� 155.70  kg/rai    ����������$���� ��������+��"��")&*)���4+���"������")&*)���	.����
����(� 406.73  kg/rai     
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T1 = Alachlor  360 g ai/rai   
T2 = Oxyfluorfen 280 g ai/rai 

T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
T7 = Hand weeding   
T8 = Control 

������ 96  �4+���"������")&*)����������	��'	����� 
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4. �����:�$��;���*����� 

            4.1�����:�$��;���*�������� 14 �������!�
�"� 

            ����������	
����

������������������(Analysis of Varience)  �������� 22  &'���  
�������� ���������!
�����������"���������#!�
������#!��"��	��*!� ���������$�����)����
�+��"��")&*)�+����
������#!��"��	��*!���������"�!�������"��+�
",������������(P�0.01)  -�����
������$�����+��"��")&*)�����*!��
������#!��"��	��*!�	.��������(� 10.31 	5���	��� �!�����	�3�
������$�����)���� Alachlor  360 g ai/rai ��
������#!��"��	��*!�	.���� 10.08 	5���	��� ����
������$�����)���� Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai ��
������#!��"��	��*!�	.����
��+��(� 6.27 	5���	��� 
 

#�	����� 23  
������������������#!�
���
�������"��	��*!� 

�����
����������     14DAA 21DAA 28DAA 35DAA 

        

�������� (A)   NS NS NS NS 

        

��$�����)�����+��"��")&*) (B)  ** ** ** ** 

        

A x B     NS NS NS NS 

 CV(%)(Main-plot)       2.73 12.82 7.47 25.69 

 CV(%)(Sub-plot)    2.01 4.41 4.07 23.35 

DAA  = Day  After  Application 

*        = ��
������������������������"' P�0.05 

**      = ��
������������������������"' P�0.01 

NS     =  ����
������������������ 
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T1 = Alachlor  360 g ai/rai   
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T7 = Hand weeding 

T8 = Control 

������ 97  
������#!��"��	��*!���� 14 �"���"�.��&��  
����*�#� T2 = Oxyfluorfen 280 g ai/rai   
           T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
           T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
                 T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
�"��	��*!���!����	�3�&�1�������+��"��")&*)�+�����"��	��*!���� 
 
            4.2 �����:�$��;���*�������� 21 �������!�
�"� 
            ����������	
����

������������������(Analysis of Varience)  �������� 1  &'���  
�������� ���������!
�����������"���������#!�
������#!��"��	��*!�  ���������$�����)����
�+��"��")&*)�+����
������#!��"��	��*!���������"�!�������"��+�
",������������(P�0.01)  -�����  
������$�����+��"��")&*)�����*!��
������#!��"��	��*!�	.��������(� 15.96 	5���	��� �!�����	�3�
������$�����)���� Alachlor  360 g ai/rai ��
������#!��"��	��*!�	.���� 14.79 	5���	��� ����
������$�����)���� Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai ��
������#!��"��	��*!�	.����
��+��(� 7.75 	5���	��� 
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T1 = Alachlor  360 g ai/rai   
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T7 = Hand weeding 

T8 = Control 

������ 98  
������#!��"��	��*!���� 21 �"���"�.��&��  
����*�#� T2 = Oxyfluorfen 280 g ai/rai   
           T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
           T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
                 T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
�"��	��*!���!����	�3�&�1�������+��"��")&*)�+�����"��	��*!���� 
 
            4.3 �����:�$��;���*�������� 28 �������!�
�"� 
            ����������	
����

������������������(Analysis of Varience)  �������� 1  &'���  
�������� ���������!
�����������"���������#!�
������#!��"��	��*!�  ���������$�����)����
�+��"��")&*)�+����
������#!��"��	��*!���������"�!�������"��+�
",������������(P�0.01)  -�����  
������$�����+��"��")&*)�����*!��
������#!��"��	��*!�	.��������(� 22.07 	5���	��� �!�����	�3�
������$�����)���� Alachlor  360 g ai/rai ��
������#!��"��	��*!�	.���� 21.0 	5���	��� ����
������$�����)���� Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai ��
������#!��"��	��*!�	.����
��+��(� 11.47 	5���	���  
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LSD(0.01)=1.33
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T1 = Alachlor  360 g ai/rai   
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T7 = Hand weeding 

T8 = Control 

������ 99  
������#!��"��	��*!���� 28 �"���"�.��&��  
����*�#� T2 = Oxyfluorfen 280 g ai/rai   
           T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
           T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
                 T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
�"��	��*!���!����	�3�&�1�������+��"��")&*)�+�����"��	��*!���� 
 
            4.4 �����:�$��;���*�������� 35 �������!�
�"� 
            ����������	
����

������������������(Analysis of Varience)  �������� 1  &'���  
�������� ���������!
�����������"���������#!�
������#!��"��	��*!�  ���������$�����)����
�+��"��")&*)�+����
������#!��"��	��*!���������"�!�������"��+�
",������������(P�0.01)  -����� 
������$�����+��"��")&*)�����*!��
������#!��"��	��*!�	.��������(� 29.78 	5���	��� �!�����	�3�
������$�����)���� Alachlor  360 g ai/rai ��
������#!��"��	��*!�	.���� 29.36 	5���	��� ����
������$�����)���� Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai ��
������#!��"��	��*!�	.����
��+��(� 19.78 	5���	��� 
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T1 = Alachlor  360 g ai/rai   
T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
T7 = Hand weeding 

T8 = Control 

������ 100  
������#!��"��	��*!���� 35 �"���"�.��&��  
����*�#� T2 = Oxyfluorfen 280 g ai/rai   
           T4 = Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai 
           T5 = Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai 
                 T6 = Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai 
�"��	��*!���!����	�3�&�1�������+��"��")&*)�+�����"��	��*!���� 
 
����#�����:�$��;���*����� 

            ������/0�1�&��"�
������#!��"��	��*!�������� 14, 21, 28 ��� 35 �"���"�.��&��(%�&��� 
5 – 8) �������	������
������#!��"��	��*!������-���	&���#04�!������!	�*�!��������	���#!����
	���,	��'-�#!��"��	��*!�  -�����6��� �����/0�1�&��"�#!�
�����������"�17�	�3�	������ 
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y = 0.9298x - 3.702
R2 = 0.9775

y = 0.9005x - 3.53
R2 = 0.9734
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������ 101  &��"�
�������"��	��*!�#!� T1 = Alachlor  360 g ai/rai   
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 

 

y = 0.5962x - 3.5533
R2 = 0.8745

y = 0.6353x - 4.1773
R2 = 0.8955
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������ 102 &��"�
�������"��	��*!�#!� T3 = Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 
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y = 0.9006x - 3.0507
R2 = 0.9687

y = 0.9423x - 3.046
R2 = 0.9943
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������ 103 &��"�
�������"��	��*!�#!� T7 = Hand weeding 

_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 

 

y = 0.8722x - 3.5787
R2 = 0.9583

y = 0.8809x - 3.5793
R2 = 0.9816
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������ 104 &��"�
�������"��	��*!�#!� T8 = Control 
_____ S1 = ���� 25 x 25 cm.   _ _ _ _ _ S2 = ���� 25 x 50 cm. 
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#�	����� 24  
��	.�������
���
���	
�*�!�����:��#!�
�������"��	��*!��������������� 25 x 25 

                    	5���	��� 

������$�����)�����+��"��")&*) 14DAA 21DAA 28DAA 35DAA 

Alachlor  360 g ai/rai 10.13±0.36 14.95±1.37 21.65±0.91 29.59±0.90 

Oxyfluorfen 280 g ai/rai N/A N/A N/A N/A 

Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 6.22±0.16 7.79±0.58 11.85±0.86 19.69±1.15 

Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai N/A N/A N/A N/A 

Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai N/A N/A N/A N/A 

Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai N/A N/A N/A N/A 

Hand weeding   10.33±0.27 16.33±0.84 23.61±0.23 29.89±0.80 

Control 9.26±0.10 14.26±1.58 20.88±0.64 27.60±1.06 

 

#�	����� 25 
��	.�������
���
���	
�*�!�����:��#!�
�������"��	��*!��������������� 25 x 50 

	5���	��� 

 

������$�����)�����+��"��")&*) 14DAA 21DAA 28DAA 35DAA 

Alachlor  360 g ai/rai 10.03±0.20 14.63±0.83 20.34±0.24 19.80±16.38 

Oxyfluorfen 280 g ai/rai N/A N/A N/A N/A 

Alachlor 180 g ai/rai + Oxyfluorfen 140 g ai/rai 6.32±0.05 7.71±0.19 11.08±0.57 19.11±1.14 

Alachlor 180 g ai/rai + Oxyfluorfen 280 g ai/rai N/A N/A N/A N/A 

Alachlor 360 g ai/rai + Oxyfluorfen 140 g ai/rai N/A N/A N/A N/A 

Alachlor 360 g ai/rai + Oxyfluorfen 280 g ai/rai N/A N/A N/A N/A 

Hand weeding   10.32±0.20 15.58±0.95 20.52±1.16 29.70±0.47 

Control 9.38±0.09 14.48±1.31 19.11±1.27 28.19±1.04 

 


